AP Statistics Chapter 5 Class Problems

[image: ]

[image: ]













































[image: ]
[image: ]






[image: ][image: ][image: ][image: ]





[image: ]









[image: ]













[image: ]

































Assignment: Read Chapter 5 pg. 80 – 92 
         Chapter 5, Pg. 95 -103: #5, 9, 13, 15, 21, 23, 27, 37, 39
[bookmark: _GoBack]         Chapter 5 Crossword Worksheet
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10. Tendon transfers. People with spinal cord injuries
may lose function in some, but not all, of their muscles.
The ability to push oneself up is particularly important
for shifting position when seated and for transferring into
and out of wheelchairs. Surgeons compared two opera-
tions to restore the ability to push up in children. The his-
togram shows scores rating pushing strength two years
after surgery and boxplots compare results for the two
surgical methods. (Mulcahey, Lutz, Kozen, Betz, “Prospec-
tive Evaluation of Biceps to Triceps and Deltoid to Triceps
for Elbow Extension in Tetraplegia,” Journal of Hand
Surgery, 28, 6,2003)
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a) Describe the shape of this distribution.

b) What s the range of the strength scores?

<) What fact about results of the two procedures is
hidden in the histogram?

d) Which method had the higher (better) median score?

€) Was that method always best?

f) Which method produced the most consistent results?
Explain.
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14. Deaths 2003. A National Vital Statistics Report
(www.cde.gov/nchs/) indicated that nearly 300,000 black
Americans died in 2003, compared with just over 2 million
white Americans. Here are histograms displaying the dis-
tributions of their ages at death:
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a) Describe the overall shapes of these distributions.

b) How do the distributions differ?

©) Look carefully at the bar definitions. Where do these
plots violate the rules for statistical graphs?
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16. Gas prices. Here are boxplots of weekly gas prices at a
service station in the midwestern United States (prices in
$ per gallon):
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a) Compare the distribution of prices over the three
years.

b) In which year were the prices least stable? Explain
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24. Vineyards. Here are summary statistics for the sizes
(in acres) of Finger Lakes vineyards:

Count | 36

Mean 46.50 acres
StdDev | 47.76
Median | 3350

IR 3650

Min 6

Qi 18.50

Q3 55

Max 250

) Would you describe this distribution as symmetric or
skewed? Explain.

b) Are there any outliers? Explain.

¢) Create a boxplot of these data.

d) Write a few sentences about the sizes of the vineyards.
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28. Cholesterol. The Framingham Heart Study recorded
the cholesterol levels of more than 1400 men. Here is
an ogive of the distribution of these cholesterol meas-
ures. (An ogive shows the percentage of cases at or be-
low a certain value.) Construct a boxplot for these data,
and write a few sentences describing the distribution.
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38. Music library. Students were asked how many songs
they had in their digital music libraries. Here’s a display

of the responses:
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a) What aspect of this distribution makes it difficult to
summarize, or to discuss, center and spread?

b) What would you suggest doing with these data if we
want to understand them better?
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2. Which of the following statements are true?

1. Both sets have the same mean.
II. Both sets have the same range.
III. Both sets have the same variance.

(A) Tonly

(B) Tand II

(C) Iand III

(D) 1, I, and III

(E) None of the above gives the complete set of true responses.
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